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405 XHaHE SH 10,600 7,000 3,600
01 MR EFHSE 10,600 7,000 3,600
OxXReY = = 1,500, 000& =1 CH 1,500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ase = My 2 200, 0002 *24 400
OXse = Hols #¢ 200,000& *2H 400
OXRY = AX 7 200,000& 104 2,000
Os=x9 & 4z 3¢ 400,000& +6CH 2,400
O==x9 & g& 7¢ 300,000 »4LH 1,200
O=£9 & 1V 7 500,000& =4 H 2,000
O==x29 & 8430 ¢ 70,000& = 10CH 700
N XM A = 2 & 200,000 0 200,000
s 100,000
S 30,000
s 70,000
401 Al HIZ 201 I 200,000 0 200,000
s 100,000
< 30,000
s 70,000
01 A& HI 198,560 0 198,560
ODELHESEIAHAEY 198,560
— s LE B2AY 198,560, 000& 198,560
s 99,280
< 29,784
e 69,496
03 Al 2 THHI 1,440 0 1,440
ODELESEIAHAEY 1,440
— s LE B2AY
200,000,000& *0.72/100 1,440
s 720
< 216
i 504
=Y 32 22 3,006,593 1,030,996 1,975,597
s 450,000
< 30,000
s 2,526,593
TEIR JIBESE 2,376,222 580, 190 1,796,032
ras 450,000
< 30,000
[ia 1,896,222
& 233 2el 1,586,087 415,909 1,170,178
101 1Al 205,247 136,385 68,862
412t Z2XREES 205,247 136,385 68,862
OMLUZEHSE 22IRF UFRY 126,028
—Jlas 66,8003 x5H 288 96,192
— =52 66,8003 x5 48! 16,032
— 428 = 112,224,000& *12.3% 13,804
OHMHAZEHIH HEL 22F A2Y 25,207
—Jl=s 66,8003 1 288! 19,239
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¥ TPy 66,8002 * 13 *48< 3,207
—42Ee 22,446,000% *12.3% 2,761
ORMUPUT SH2 2RV ARY 54,012
—Jl=s 66,8003 x3H x200! 40,080
—F5dg 66,8003 x3H 402! 8,016
—4HEE= 48,096,000& x12.3% 5,916
201 Let24d] 94,240 75,340 18,900
01 At 22l 25,440 22,740 2,700
Ogt=&H| 15,000, 000& 15,000
O%Is 29 =4 70,000 »4H 33| 840
ONZ/E =¥ 100,000 *3H 13|« 123 3,600
OZMazZEHIE 22N 283 7Y
200,000& x5H #23| 2,000
o=l 4,000,000& 4,000
02 2324l 68,800 52,600 16,200
O=323<LHA 57,400
—SiazE 2 22 UHY e
,000,000& 5,000
— A ZE3H &g 2,500,000&+12& 30,000
—Ogltsit 282 600,000 600
—FHMoAE Sz =2
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—&dJjotd el =2 250,000 <123 3,000
—E2HMZEISE X EAEY
2,000,000& 2,000
Oz Esd 2el&dd |l
1,500& *5,0002| & 7,500
OXte & Byl 3,900
— sl 2,400,000 = 1CH 2,400
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202 (44l 9,600 5,184 4,416
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OZiazgd3d &2l s 7
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401 Al HI L =2 TH Yl 1,260,000 160,000 1,100,000
01 A& tI 1,252,098 159,244 1,092,854
OZihat 2ZFSHA HE
1,093,070, 000& 14 1,093,070
OZMNMLLEHEE ANERI E
10,000, 000& 10,000
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SH: AT
Y 2YDY el
A

S SHHAEEM JIBEY (&)
L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
EHMEEM JIEtEH 630,371 450,806 179,565
EOHAMEZEM X3 630,371 450,806 179,565
101 1A bl 163,771 136,206 27,565
04 JIZHHZ2Z2XNSE+ 163,771 136,206 27,565
OZMAEEM XNJ NsSSH 2
40,000,000& 40,000
O =il d A& ey
66,8003 x17H 23 26,119
OZUMEZEINPI Zey oy 37,652
—Jles 127,000 4 H 60 30,480
-5 127,000& »4H 6L 3,048
— 428 = 33,528,000& *12.3% 4,124
OAMHIDI &S 12 60,000,000& 60,000
201 L2l 73,600 71,600 2,000
01 At 22/l 58,600 56,600 2,000
OBNMEEN BAE (A4, 25 S 72)
12,000,000& 12,000
OHAEZN OlsA SHEA LI
5,000,000 =54 2~ 25,000
OZAEZEM XIJ Xt LI 800,000& 2& 1,600
OZEEN nsaa S ALY AXE
20,000,000& 20,000
02 =224l 15,000 15,000 0
OZMAEEM N3 0s4sEY B2asHE
15,000, 000& 15,000
206 M= Hl 13,000 13,000 0
01 =8l 13,000 13,000 0
Oihat 25 AlHl HIE+e 20,0003 *400%£ 8,000
OAEZN HE Mg 2 5,000,000& 5,000
307 glz2+ol & 140,000 100,000 40,000
04 DI2HHALALSE E X 140,000 100,000 40,000
OAEZM AKX 140,000, 000& 140,000
401 A& BIZ 201 8] 240,000 130,000 110,000
01 A& HI 238,848 128,848 110,000
FalZ2t B Y FIEX 39,568,000 39,568
OZHe 22 =AY 79,280,000& 79,280
OEZHAE S=x=AlE 22 20,000,000& 20,000
OZ0e F2XY EtYEH ZAL 84
50,000,000& 50,000
OZife F2AXH HAE AAH 224
25,000,000& =23l 50,000
03 AIE 20 HI 1,152 1,152 0
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DAzt 2% & Z01aX
40,000,000& *1.08/100 432
O 2XE =AY
80,000,000& *0.90/100 720
HY2FZH (A D) 30,200 26,800 3,400
Jl=&l 30,200 26,800 3,400
Jl234 30,200 26,800 3,400
201 Let24d] 12,200 11,200 1,000
01 At 2teltl 12,200 11,200 1,000
OB+t 12,200,000& 12,200
202 O4dl 13,200 12,000 1,200
01 = LH 4 Hi 13,200 12,000 1,200
ORMSY (A, MOIL, 228 &4 3)
13,200, 000& 13,200
203 YR =&l 4,800 3,600 1,200
04 FN2ELRZ=LH| 4,800 3,600 1,200
ORN2IYS =2 4,800,000& 4,800




